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BDD is a second-generation, outside-in, pull-based,
multiple-stakeholder, multiple-scale, high-automation,
agile methodology. It describes a cycle of interactions with
well-defined outputs, resulting in the delivery of working,

tested software that matters.

- Dan North, 2009
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Story: Returns go to stock

In order to keep track of stock
As a store owner
| want to add items back to stock when they're returned

Scenario 1: Refunded items should be returned to stock
Given a customer previously bought a black sweater from me
And | currently have three black sweaters left in stock

When he returns the sweater for a refund

Then | should have four black sweaters in stock

Scenario 2: Replaced items should be returned to stock
Given that a customer buys a blue garment

And | have two blue garments in stock

And three black garments in stock.

When he returns the garment for a replacement in black,
Then | should have three blue garments in stock

And two black garments in stock
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text
Scenario: A trader is alerted of status

Given a stock and a threshold of 15.0
When stock is traded at 5.0

Then the alert status should be OFF
When stock is traded at 6.0

Then the alert status should be ON

&

FHAVE

Mapbiné Sto.ries % )
—eprwvave 1radingService service; // Injected

f
public class TraderStories extends JUnitStories {

public Configuration configuration() {
return new MostUsefulConfiguration()

withFormats(CONSOLE, TXT, HTML, XML));
}

public List<CandidateSteps> candidateSteps() {
return new InstanceStepsFactory(configuration(),

}
protected List<String> storyPaths() {

"*x/% _story");

}

.useStoryloader(new LoadFromClasspath(this.getClass()))

.useStoryReporterBuilder(new StoryReporterBuilder()
.withCodelocation(codelLocationFromClass(this.getClass()))

new TraderSteps(new TradingService())).createCandidateSteps();

return new StoryFinder().findPaths(codeLocationFromClass(this.getClass()),

i

i TraderSteps {

private Stock stock; // Created

@Given("a stock and a threshold of $threshold")
public void aStock(double threshold) {

stock = service.newStock(“STK”, threshold);
}

@When("the stock is traded at price $price")

public void theStockIsTraded(double price) {
stock.tradeAt(price);

}

@Then("the alert status is $status")

public void theAlertStatusIs(String status) {
assertThat(stock.getStatus().name(), equalTo(status));

}




RSPEC

class Burger describe Burger do
attr_reader :options describe "#apply_ketchup"” do
subject { burger }
def initialize(options={}) before { burger.apply_ketchup }
@options = options
end

context "with ketchup" do

let(:burger) { Burger.new(:ketchup =) true) }
def apply_ketchup

@ketchup = @options[:ketchup]

S it { should have_ketchup_on_it }

end

1+7
def has_ketchup_on_it? context "without ketchup" do

en:ketchup let(:burger) { Burger.new(:ketchup =) false) }
s it { should_not have_ketchup_on_it }
end
end

end



CUCUMBER

- Behavioral Specification
- Feature: Addition
- In order to avoid silly mistakes
- As a math idiot

. | want to be told the sum of two numbers

o Step definiti
« Scenario: Add two numbers & ik,

e Given /I have entered (.*) into the

. Given | have entered 50 into the calculator
calculator/ do |n|

- And | have entered 70 into the calculator
e calculator ||= Calculator.new
+ When | press add calculator.push(n.to_i)

« Then the result should be 120 on the screen e end



CUCUMBER

Feature: Addition
In order to avoid silly mistakes
As a math idiot
I want to be told the sum of two numbers

Scenario: Add two numbers # features/first.feature:6
# features/step_definitons/calculator_steps.

And I have entered 70 into the calculator # features/step_definitons/calculator_steps.
wWhen I press add # features/step_definitons/calculator_steps.
Then the result should be 120 on the screen # features/step_definitons/calculator_steps.




CUCUMBER

Calculator 222 E H2|, push method %

Feature: Addition
In order to avoid silly mistakes
As a math idiot
I want to be told the sum of two numbers

Scenario: Add two numbers # features/first.feature:6
Given I have entered 50 into the calculator # features/step_definitons/calculator_steps.
And I have entered 70 into the calculator # features/step_definitons/calculator_steps.
# features/step_definitons/calculator_steps.

Then the result should be 120 on the screen # features/step_definitons/calculator_steps.
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add method %

Feature: Addition
In order to avoid silly mistakes
As a math idiot
I want to be told the sum of two numbers

Scenario: Add two numbers # features/first.feature:6
Given I have entered 50 into the calculator # features/step_definitons/calculator_steps.

And I have entered 70 into the calculator # features/step_definitons/calculator_steps.
wWhen I press add # features/step_definitons/calculator_steps.
# features/step_definitons/calculator_steps.




CUCUMBER

e add method =&

Feature: Addition
In order to avoid silly mistakes
As a math idiot
I want to be told the sum of two numbers

Scenario: Add two numbers # features/first.feature:6
Given I have entered 50 into the calculator # features/step_definitons/calculator_steps.
And I have entered 70 into the calculator # features/step_definitons/calculator_steps.
When I press add # features/step_definitons/calculator_steps.
Then the result should be 120 on the screen # features/step_definitons/calculator_steps.

1 scenario (1 passed)
4 steps (4 passed)
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CUCUMBER
IMPLEMENTATIONS

 Implementations
Cucumber Xid|= Ruby 7|20|X[2F CHE 10{Q} AFE[=
i AR =
Java, Flex, Python, Perl, Lua, Erlang, PHP, Javascript, C++,
C#/F# .Net
Selenium
Ruby on Rails

=O
——

9l

e Cucumber-JVM

Pure-java implementation
=

Spring 2| dependency injection container2 S&HE
Maven2| pom.xml= &3l containerL} junitet A=



CUCUMBER-JVM

JpId>info.cukes<,
tId>cucumber-picocontainer
ston>1.1.1</version:

d>cucumber-junit</
s1on>1.1.1</version>




